1)y = 3x?
2) y = 0,5x>
3)y = —3x7
4)y = —0,5x>



~J

. YHauMm = 0, |
YHauO He CylIeCTB
. BO3pacTaeT npu

K>0

. D(y): (005 +0)
. y=0, ipu x=0

y>0, mpu x#£0

. HEIpepbIBHAA

(YHKIS

- N W s M o~ o O

l_.Y

x>0,
yobiBaeT npu Xx<0

. OI'PAHUYCHA CHU3Y

. E(y): [0;+0)
. BI)IHYKH& BHHN3

-—t

o d@ do W & h = b R =

K<0

. D(y): (005 +0)
. y=0, ipu x=0

y<0, mpu x#£0

. HEpepbIBHAS

(yHKIS

4. YHauM HeE CYIIECTB,

YHanuo= 0

. BO3pACTAET MpPH

x <0,
yObIBaeT npu X > 0

. OTPAaHUYECHA CBEPXY

. E(y): [-00;0)
. BBIIIYKJIA BBEPX



K>0
. D(y): (-00; +00)/{0}
. y>0, npu x>0
y<0, ipu x<0

. yObIBaeT Ha (-o0;
(0; +oo)

. HE OrpaHUYCHA

0)

/

-
=<

—

e 5 B 7 TR S S ; R = 5 ]

K>0

1. D(y): (-00; +00)/{0}
2. y>0, mpu x<0
y<0, ipu x>0
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